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ILTSRIERICH T D FEGEREFE MRS, FHERICNA ., BER-HEAER. 555FERZ&>TH
RESN TS (RE-AERERIOWLTE, FEHERDHA) .
BFMIZEIUTDEBY,
FEERRFEY = [Ris% - GH-ER-RER 555568

Q) ARYIIT7ALIL
FRALTWWSRARYII7LILORKRIILUTDESY,

series { start = 2008.1
span = (2008.1,2015.12)
decimals = 1}
transform { function = log }
arima{model=(012)(011)}
regression { variables = (td1nolpyear Ipyear) — 7o ZEERIEMDIEEIL regression D{ 1 NEHIEE
save = (td hol)
user = (jap—hol)
usertype = holiday
start = 2008.1
file = “xoxx00000000000000x |
forecast { maxlead = 12}
estimate { save = (mdl )
maxiter = 500 }
x11 { print = (none + d10 + d11 + d16)
save = (d10 d11 d16)

seasonalma=x11default }

(3) FEHEHFDEH
TRk 28 1 A LR D FEHERISL . HEFERBEARERAL TS,
BRMIZE, T/ 27 EOFMHERE, LELQTHEISN T/ \GA—2EHL U F - DR HEL-IER - 5%
B-555FERMN ., FEHEREFR. FIAL TS,



4) REBLE

TRk 27 FERFHIEICHL T, BEREARHESN - RIIEEBENEET o380, FAXLUTDESY,

Z 5 & ¥ EEEE mIEER
£ E TC 2011 03
AO 2008 12
LS 2009 01
L B TC 2009 02
= T = % LS 2011 03
LS 2011 06
T E TC 2011 03
T E R — —
g o 46 LS 2011 03
HE I%f;f#g ’; s AO 2011 04

TC: temporary change
LS: level shift

AO: additive outlier

CHNITEKYFER 27 FFRRFHIETEIELIZ2) DARYIITFAILIELUTDESY,
<MLITERLEERBDZE>
regression { variables = (td1nolpyear Ipyear tc2011.3)

(6) ERBEHDKLNZDULVT
X-12-ARIMA [ZEITHHRB DTN QDAY T7AILDELIRT file="XXXX= = -"DEBFM) IZDLVTIE, KL
TOELY,
ZEEEGTEDRRER (BFRM) [CDOWT., REIEITH2FNEFND AIZHITHTEH (AERMNLEER)
HRBIZAESBEH(A)EHA . RIT1ALS 12 AZENENICHITE8ERD B D FE(B) R,
BEICBTHZENTADO ADORHHEBE(A) M HFHIEB)EZELEILV-{EZE X-12-ARIMA [Z5Z T 5,

AL 27 FERWHIE TEALEZARE, UTOEEY,

18 2R3 38 48 58 68 78 8H 9A 10H 118 128
20084 0.125 0.125 0.125 0.000] -0.500 0.000 0.000 0.000| -0.125 0.000 0.250 0.000
20094 0.125 0.125 0.125 0.000 0.500 0.000 0.000 0.000 0.875 0.000 0.250 0.000
20104 0.125 0.125 0.125 0.000 0.500 0.000 0.000 0.000| -0.125 0.000 0.250 0.000
20114 -0.875 0.125 0.125 0.000 0.500 0.000 0.000 0.000| -0.125 0.000 0.250 0.000
20124 0.125 —-0.875 0.125 0.000] -0.500 0.000 0.000 0.000| -1.125 0.000f -0.750 0.000
20134 0.125 0.125 0.125 0.000| -0.500 0.000 0.000 0.000| -0.125 0.000f -0.750 0.000
20145 0.125 0.125 0.125 0.000] -0.500 0.000 0.000 0.000| -0.125 0.000 0.250 0.000
20154 0.125 0.125| -0.875 0.000 0.500 0.000 0.000 0.000 0.875 0.000 0.250 0.000
20164 (HEHAR) 0.125 0.125 0.125 0.000 0.500 0.000 0.000 1.000] -0.125 0.000 0.250 0.000
20174 (B FEH#AR) 0.125 -0.875 0.125 -1.000 0.500 0.000 0.000 1.000] -1.125 0.000 0.250] -1.000




